O EHIX
O O O
I E OHEE
RX|3t7] 2f2t X
X‘”O'l EE—IIO

XA A

= (Z1AD, 2187171 A), 22 HE B (7] Al), 220 M 3| (A LR 7]), 22 &l = HA

3 A

0|2 E8| XX 7O FES QK|S DA} ST} O o
AlS E3) Q10| Ch3HO[SHE 7|HIC 2 O] RS + BX AL
ANE Sl E2roll, yaw H2FO| L L QF Zh= & i}
2 ES| U2 XA 2 & 7HS 0|28t0 2HS
SIS ZHE 2 D E3I0H A XPH M2 K| Ao

o
9]

- Torques acting

. PID M| O]

d vD
L, —]—(p—DW ]—(p——
b
D=1,
, d?¢ P Dvdé . mvyhé
—— — mghsing = ——— b

- Use Laplace transform

Let ¢ is constant

Dvdé N mvgho b
T P mghsing
Dv muvzh mghsin
Y (SA(s) — 8(0) + =0 Ags) = — TP
b b S
5(0)=0
mghbsing mghbsin®

A(s) = —

s(Dvys + mvgh) N s(Dvys + mvgh)

0 =—¢
_hmvot
5(t) = mghbsin®(—— — ———
— S 2 T T hmv?

K e(1)

- 2A 22

20

AR RH E0H2
AHA BHE Al

NN =y
1 L= 1

H| g2 roll 21, O]
227402 2 MH | Of
OH:”":r‘ HISFO| M Btk O

=13

(AHLZ1), 22Z| Xh = (M Lh 7

LS —

7| L= 0|t O] =

SHC
o AA

J%RdErNWPm*““AEr

7FE7I-O Af

Pl
A
X
10
i,
H
N
=
N

A5 =8

2 A A A 01| HES X

Output —

= - Off CH ol

ot = A
A TJlOo

O\ o & S

I K,je(r)dr

+
—Sclpoim@ Error -»

. K"djl(z’)

= xrﬂoq sHEo x=sH

vﬂ Hif XPSH% Ef

&= 28 B

S pun
E“éiﬁ L ] g 3P04 LAS
= ALtots 20| L,

4 X O 7] O] C, X‘\(H (e

—.—.'f—, QKXpzro| 0|20 v o= 37l 2L =
§ AFEROI A 2] @x}ZEO| 7|0f H| 28 M| O X+ R-S BhC}
& Eff (steady-state) LA E Bi0f= &&= SHCF
ofo| 240 Hel0| Xl s= 40| LH 3% (overshoot)=

H
A (stability) = ZFaHA|ZIC}




